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2007-08 District Competition

Match #17


These questions are for use in the Virginia High School League’s Scholastic Bowl District competition. Shawn Pickrell, Jason Mueller, and Dan Goff are the authors of these questions; further editing was done by Adam Fine and Marian Suter.

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before all VHSL District champions have been determined is prohibited. 

(b)
Releasing these questions to entities outside your District’s competition is prohibited. 

First period: 15 tossups, 10 points each
1.
 In the 1960s, he conducted interviews with Miles Davis and Martin Luther King for Playboy magazine. David Stevens finished his second historical novel, Queen, after his death in 1992. He is, however, more familiar for writing someone else’s autobiography and for fictionalizing the life of his supposed ancestor, Kunta Kinte. Who wrote The Autobiography of Malcolm X and Roots? 

ANSWER: Alex Haley
2.
At its 1994 launch, it had a peak transfer rate of 1 megabyte per second, and a seek time of 28 milliseconds. This was double the transfer rate and half the amount of seek time of a standard floppy disk, plus it had seventy times more data space. Name this type of disk introduced by Iomega that came in 100 and 250 megabyte varieties.

ANSWER: Zip Disk

3.
He amended his confession to say members of the ‘twenty-two disciples of Hell’ had shot nine of the people he had confessed to shooting. He started with killing dogs and mutilating their corpses; the dogs got revenge by telling him to kill people instead. He is the namesake of a law that prevents criminals from profiting from their memoirs. Who used a .44 caliber Bulldog in eight New York City shootings in 1976 and 1977? 

ANSWER: Son of Sam or David Berkowitz or Richard Falco
4.
Much of this novel takes place in the fictional Suffolk village of Dympling. Human characters include Nanny Cook, Nanny Butler, and Mr and Mrs Dearly. Animal characters include Lucky, Patch, Cadpig, Perdita, Prince, Missis, Pongo, and the Colonel, an English sheepdog. The Great Dog Robbery is an alternate name to what children’s novel by Dodie Smith in which a fur coat is desired by Cruella de Vil?

ANSWER: The Hundred and One Dalmatians
5.
This man's clients included Sean Combs, whom he represented on weapons charges. In 1993, he defended Michael Jackson on charges of inappropriate contact with a child.  He founded his own national law firm following his most famous acquit, which included a demonstration of bloody gloves ‘that did not fit.’ What lawyer died of a brain tumor in 2005, and is most famous for defending OJ Simpson?

ANSWER: Johnnie Cochran
6.
He has a brother, Kurn, and a son, Alexander. At age 13, he accidentally killed a human classmate, causing him to realize humans are fragile. Counting all series, he has appeared in more Star Trek episodes than any others; along with O’Brien, he is the only character to appear regularly in two series. What son of Mogh (mohg) was the security officer under Picard on the Enterprise and was the first regularly appearing Klingon?

ANSWER: Lieutenant Worf
7.
His short story ‘The Sobbin’ Women’ was an adaptation of the story of the Sabine Women. He won a Pulitzer Prize in 1944 for his posthumous poem ‘Western Star.’ His brother William Rose wrote The Reader’s Cyclopedia. Who is perhaps best known for the short stories ‘By the Waters of Babylon’ and ‘The Devil and Daniel Webster’ and the epic poem John Brown’s Body? 

ANSWER: Stephen Vincent Benét (beh-NAY)

8.
This dynasty traces back to Andrei Kobyla (koh-bih-lah), a Master of the Horse for Semyon I; this is ironic considering the rumors floating about one of this dynasty’s female members. After the death of Elizabeth I in 1762, it added Holstein-Gottorp to its name, started anew with Peter III, and then continued to rule until 1917. Nicholas II was the last king of what Russian dynasty? 

ANSWER: Romanov dynasty

9.
From the Greek for testicle, they are found everywhere on land except Antarctica and deserts and there are around 25,000 species of them in over eight hundred genera.  Name this largest of the flowering plant families, one genus of which produces vanilla. 

ANSWER: orchid or Orchidaceae (or-kih-day-see-eye)

10.
Released by the Babelsburg Studios, it cost today’s equivalent of $200 million to make. No one is sure whether its then-fast speed of 24 frames per second was an effort to create a futuristic feel or an effort to shorten its length. In it, Maria and Freder defeat Maria’s robotic twin that was created by the evil Dr. Rotwang. What is this 1927 Fritz Lang silent film set, as its name implies, in a large futuristic city? 

ANSWER: Metropolis
11.
The first one featured the Galloway Plan of Union and a compact between the twelve governments in attendance to boycott British goods. The second one presented the Olive Branch Petition but then stayed in session for six more years until 1781, when the Articles of Confederation were adopted. What was the first attempt by the United States to form a national government? 

ANSWER: Continental Congress(es)

12.
Discovered in 1947, it won its American namesake the 1955 Nobel Prize in Physics.  It can be used to measure the fine structure constant and is caused by electron self-interaction.  Name this small difference in energy between two energy levels of the hydrogen atom that is revealed by a split spectral line.

ANSWER: Lamb shift

13.
She rejected Prince Rabadash’s marriage proposal, preferring instead to practice her archery and look at the horn that brings aid in difficult times. In The Last Battle, she was ‘interested in nothing now-a-days except nylons and lipstick and invitations.’ A trip to America prevented her from going to the World’s End with Reepicheep and Caspian. What second-oldest Pevensie is the sister of Edmund, Peter, and Lucy?

ANSWER: Susan Pevensie

14.
The audience demanded two encores at this work’s London premiere on October 22, 1901, prompting the composer to write four more marches with this name. However, the first is by far the most popular, especially after its first performance at Yale University in 1905, at a ceremony where the composer got an honorary doctorate of music. Sir Edward Elgar wrote what march that is forever associated with graduations? 

ANSWER: Pomp and Circumstance, No. 1
15.
From the Greek for overshooting, it is comprised of two disconnected curves called branches or arms.  Its rectangular type has an eccentricity of the square root of two; indeed, all of them have eccentricity above one.  Name this conic section that is the locus of points where the difference in distance to two points, called foci (foh-seye), is constant.

ANSWER: hyperbola
Second period, 10 directed questions per team, 10 points each
Set A questions have an ‘A’ after their number; set B questions have a ‘B.’ 

1A.
What term refers to vertebrae located in the neck?

ANSWER: cervical
1B.
Conservation of resources, control of trusts, and consumer protection were the three C’s of what economic policy of Theodore Roosevelt?

ANSWER: Square Deal
2A.
The experience of four men sunk from the sunken steamer Commodore is the focus of what short story by Stephen Crane?

ANSWER: “The Open Boat”

2B.
What seven-time National League MVP passed Hank Aaron on the career home runs list in August 2007?

ANSWER: Barry Bonds
3A.
THIS IS A COMPUTATION QUESTION. What is the mean of 43, 57, 21, 39, 16, and 34?

ANSWER: 35
3B.
What word follows ‘tax’ and ‘age’ when describing a group of people sharing a characteristic, or describes a diagram showing the games played in a tournament? 

ANSWER: bracket(s)

4A.
The ‘Civil Defense Corps’ and the ‘Project’ are the two factions that formed from the breakup of what group that patrols the US-Mexican border for illegal immigrants?


ANSWER: Minutemen

4B.
THIS IS A COMPUTATION QUESTION. How much money is 11 quarters, 16 dimes, 7 nickels, and 23 pennies?

ANSWER: $4.93
5A.
Robert Anderson commanded troops at what American fort that surrendered on April 13, 1861?

ANSWER: Fort Sumter
5B.
What name is given to a tectonically stable region of exposed rocks from the Precambrian Era or before, such as the ‘Canadian’? 

ANSWER: shield
6A.
He ‘starred’ in Plan 9 From Outer Space, but what Hungarian actor is best-known for playing Dracula in that classic 1931 film?

ANSWER: Bela Lugosi
6B.
THIS IS A COMPUTATION QUESTION. Solve for x and y.  3x plus 4y equals 31 and 8x minus 4y equals 24.

ANSWER: x equals 5 and y equals 4 (can be said in either order)

7A.
THIS IS A COMPUTATION QUESTION. What is the midpoint between (6, -8) (read as: six, comma, negative eight) and (-12, 20) (read as: negative twelve, comma, twenty)? 

ANSWER: (-3, 6)
7B.
The henry is the SI unit of what?

ANSWER: inductance
8A.
How many valence electrons does a bromine atom have?

ANSWER: seven
8B.
The Battles of Quatre-Bras (kah-truh-brah) and Ligny (leen-yee) preceded what climactic 1815 battle?

ANSWER: Battle of Waterloo
9A.
What is the English translation of the French word vendredi (vawn-druh-dee)? 

ANSWER: Friday 

9B.
Esther Summerson is the narrator of what novel by Charles Dickens, that roughly centers on the legal case of Jarndyce and Jarndyce?

ANSWER: Bleak House
10A.
Sennacherib (sen-nah-keh-rib) built up what city, the capital of the Assyrian Empire?

ANSWER: Nineveh
10B.
In this song, the Lord is told that someone is laughing, crying, praying, and singing. What is this song that today is associated with naive hippies? 

ANSWER: “Kum-Ba-Ya” or “Come By Here”

Third period, 15 toss-ups, 10 points each

1.
Actor Tim Matheson led a hostile takeover of this magazine in 1989, but it folded after publishing only one issue per year in 1996, 1997, and 1998. It still sells licensing rights to movies, most recently Teed Off Too and TV: The Movie. Founded in 1969 by three Harvard alumni, editors leaving for Saturday Night Live spelled doom for what humor magazine that described Faber College’s Delta Tau Chi chapter in Animal House? 

ANSWER: National Lampoon

2.
Spirit Mountain Ranch in Arizona has bred seven of them:  a female named Miracle Moon and six of her descendants.  Sacred to Native Americans, one is featured on the state flag of Wyoming.  Name this rare leucistic or albino version of a type of bovine that is normally brown.

ANSWER: white buffalo or white bison
3.
It was separated from the province of the same name in 1880, and it now includes the neighborhoods of Flores and Belgrano. This city has the largest Jewish community in Latin America. Landmarks in this city include the Colón (koh-lohn) opera house and the Plaza (plah-sah) de Mayo (mah-yoh). Located near the Paraná River’s junction with the Rio de la Plata is what capital of Argentina?

ANSWER: Buenos Aires (BWAY-nohs EYE-rays), Argentina

4.
Sights in this novel include Red Sea coral, wrecks from the Battle of Vigo Bay, the remains of Atlantis, and a group of hostile giant squid. Professor Arronax, Conseil, and Ned Land escape at the end. This novel’s title refers to the distance traveled, and not the depth, which would be impossible as it is 20 times the Earth’s radius. Captain Nemo’s submarine, the Nautilus, appears in what novel by Jules Verne? 

ANSWER: 20,000 Leagues Under the Sea
5.
NO CALCULATION IS NEEDED. This economic term came into use in 1992. Its first word means depreciation of capital goods is not included. Take the consumption that occurs in a country. Then add the total private sector investment. Then add the total government expenditures. Add exports, and finally subtract imports. You have what economic figure that for the United States in 2006 broke the $13 trillion barrier? 

ANSWER: gross domestic product or GDP (DO NOT accept ‘gross national product’ or ‘GNP’)
6.
To win this item, a hero had to overcome three challenges: yoke a team of fire-breathing oxen and plow a field, plant the teeth of a dragon and defeat the warriors who sprouted, and finally distract the sleepless dragon that guarded it. It was just the oddly-colored hair of the ram Chrysomallos (kree-soh-mah-lohs). Medea’s help was needed to claim what prize sought by the Argonauts?

ANSWER: the Golden Fleece
7.
THIS IS A COMPUTATION QUESTION. If x equals 7 when y equals 17 and maintains that ratio, what does y equal when x equals 91, remembering that 91 divided by 7 equals 13?

ANSWER: y equals 221
8.
He wrote the short story collection Escape to Hell and the political Green Book. He holds no office save being the head of his Amazon guards – he is only the ‘Brotherly Leader and Guide of the Revolution,’ referring to the 1969 coup that overthrew Idris I. He was a supporter of terrorist movements in the 1980’s, but has moderated and pioneered the formation of the African Union. What colonel continues to rule Libya? 

ANSWER: Moammar Abu Minyar al-Gaddafi (or Khadhafi)

9.
The level of this molecule in the air is expressed in Dobson units.  It acts in different ways based on the level of the atmosphere in which it exists; in the troposphere it is considered to be a pollutant and greenhouse gas, trapping infrared radiation.  Most prevalent in the stratosphere is what compound that prevents ultraviolet radiation from reaching the Earth's surface; a compound that is also known as “trioxygen”?

ANSWER: ozone (accept trioxygen before it is said)

10.
The line, ‘Walk! Not bloody likely!’ shocked the Edwardian audience of this play. At its end, the female lead declares she will marry Freddy Eynsford-Hill. The play’s title refers to a figure in Greek mythology that literally was able to create the perfect woman. Phonetics professor Henry Higgins gets Cockney flower girl Eliza Doolittle to become a proper society lady in what play by George Bernard Shaw? 

ANSWER: Pygmalion
11.
This Bible book is called Debarim (deh-bar-im), or ‘words,’ in Hebrew. The Greek name in its Septuagint name means, ‘a copy of the law.’ It contains three discourses of Moses that include a repetition of many earlier laws. Some rabbis believe Joshua wrote the last few verses of this book, as the ending depicts the death of Moses. What last book of the Torah is the fifth book in the Old Testament? 

ANSWER: Deuteronomy

12.
He made his money with partner Benjamin Moore selling Shenandoah Valley corn whiskey in his native Baltimore. When he died in 1873, he had $7 million of Baltimore & Ohio railroad stock, and so made what was at the time, the single largest donation to an educational institution. Who is the namesake of a famous hospital and university in the city of Baltimore? 

ANSWER: Johns Hopkins (DO NOT accept ‘John Hopkins’)
13.
Most members of this class of pronoun serve “double duty:” the word that is also a demonstrative pronoun, while who and which are also interrogatives. What type of pronoun is the word that in the sentence, “I got eight tossups in the match that we won?” 

ANSWER: relative

14.
It was first proposed by van ‘t Hoff (vant hoff) in 1884, and its namesake proved it in 1889. It demonstrates how the rate constant is determined by the pre-exponential factor, the gas constant, the activation energy, and the temperature. Name this equation that determines ‘how fast’ a chemical reaction occurs, named after the Swedish chemist who won the 1903 Nobel Prize in Chemistry.

ANSWER: Arrhenius equation

15.
Necker and Gardner Islands are located to the northwest of this state. One of its counties is a leper colony with 147 people. It is the only one with a single school district and it has only one incorporated city. It has the largest percentage of Asian Americans in the country. Cities here include Pearl City, Kailua, and Hilo. What state consists of seven main islands? 

ANSWER: Hawaii 

Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
THIS IS A COMPUTATION QUESTION. What is 3 to the tenth divided by 3 to the sixth, given that n to the xth power divided by n to the yth power equals n raised to the power of x minus y?

ANSWER: 81
2.
This name was given to the boy in 2001’s ‘Torso in the Thames’ (temz) murder case. It was the name of Coleco’s attempt at a home computer. It is the ‘code’ used to announce missing children within Wal-Marts or other enclosed areas. It is the first name of Kyle Petty’s racecar-driving son and the lead singer of Maroon 5. What name, meaning ‘ground’ or ‘earth’ in Hebrew, was given by God to the first man He created? 

ANSWER: Adam

3.
Some jurisdictions have begun changing the rules, so as no longer to allow a lone holdout to create one. A skilled defense lawyer will argue for a larger panel, as the likelihood of this occurring will of course increase. What situation occurs when deliberations are deadlocked and no verdict can be reached?

ANSWER: hung jury
4.
Its chemical formula is C10H14N2 and it can be used as an insecticide.  It can cross the blood-brain barrier and can cause stimulation, relaxation, and even euphoria.  According to research done on mice, it is more toxic than cocaine. Other research shows it is more addictive than heroin. Name this legal drug, an addictive alkaloid found in tobacco and cigarettes.

ANSWER: nicotine
5.
The town of Puerto Cabezas suffered extremely heavy damage from it in September 2007. Its pressure dropped by over 3 millibars an hour; the National Weather Service said it was ‘one of the more rapid deepening rates we have observed.’ Its landfall on September 4 marked the first time two Category Five hurricanes made landfall in a single season. What was this sixth storm of the 2007 Atlantic hurricane season? 


ANSWER: Hurricane Felix 

All questions ©2007 Scholastic Bowl Company of Virginia, Inc. Unauthorized use, as described on the first page of this document, is prohibited.

